Sample Paper (2023-24)
HANT T
PSYCHOLOGY
Class-11th
(Hindi and English medium)
ACADEMIC

Time allowed: 3 hours Maximum Marks: 60

AT Ader
General Instruction:

AT 9T A § |

All questions are compulsory

A% YT & 3 38d ATHA gAY T g

Marks for each question are indicated against it.

HETA H 99T a6 YR & § d Th-Ueh 37h & & |
Questions in Part-A are objective type carrying one mark each

HT B A fATgRIcHS 9T & U7 al-ar 3l & 8 | 3o 2=l & 3ccak 30
reel ¥ YT 78T gl TRy |

Questions in Part-B are very short answer type carrying two marks each.
Answer to each question should not exceed 30 words

V. 8T CH o Jock dled WRe § T oliel -cflel 37l & § | 3T UR&Al & 3cck 50
greal ¥ e gl gl =Rl
Questions in Part-C are short answer type carrying three marks each.
Answer to each question should not exceed 50 words.
VI. $1eT DH @l e TstTcdsh § dr ie -di< 3ehi & gl 3T 9l & 3o}
150 erser & 31f¥e& wigT gl aifev|
Questions in Part-D are essay type carrying five marks each. Answer to each
question should not exceed 150 words.
PART - A
1. TISPIclol eeg fopa O & forar amr g2 1
(a) oife= (b) aferer
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(c) 3 (d) M=w
From which language is the word Psychology derived?
(@) Latin (b) Spanish
(c) English (d) Greek
2. e 31aTem A ST I3 & ARG AEger W kAt @ fAvaed 1
A & Aegar Feffd #T od g2
() TAGT W JraeAr (b) 3ireTRer HishdTcHe e
(b) g HishareHe 3raeam (d) HAT HishATcHe 37aeT.
During which stage, children develop the ability to perform operations
on mental representation, making them capable of conservation.
(@) Sensory motor stage (b) Formal operational stage

(c) Preoperational stage (d) Concrete operational stage

3. S g a7 Ush §A e Sel 1 YcIaTor oid 3R 987 oS & 1
T H I 8, AN T§ HA gl &
(a) 3 AT oA (b) FER TR 4

(c) afFas & (d) 315 & PIS Aer

When we perceive two straight equal lines as short and long lines, this illusion
Is known as....................

(a) Apparent illusion (b) Muller Lyer illusion
(c) Individual illusion (d) None of these
4. JTAIH T FIH T TN ... Hgelldl & 1
(a) wa&ToT (b) 3feeereT
(c) #aouT (d) 3T

The simplest quite learning is called.....................
(a) observing (b) conditioning

(c) listening (d) experiencing
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5. 37GEAT Aisel Sl Yiduies ferast faam? 1
(a) vefhasr aur Rk (b) Sheh AT SNHIC
(c) Aferm Tar aierea (d) SAH & FIs g
Who proposed stage model

(a) Atkinson and shiffrin (b) Craik and Lockart

(c) Shallice and Warrington (d) None of these

6. Tehall T TehR ST fordll QAUROT & YRS §IcT & 1
(a) HRTAATCHS dehel (b) feAeTHATHS dhetl
(c) adr bamsr (d) 578 & IS AGT

The type of reasoning which starts from some assumption is known as,...........

(@) Inductive reasoning (b) deductive reasoning
(c) bothaand b (d) none of these

7 o9 IRGcT X 38T aRacd & gaG &1 SaTor fRam 1T B 1
gl &l

The variable on which the effect of independent variable is observed is
called............

8 IFURTT & SIeH deh & FHAT Fl ........ HIEAT gl 1T g 1
The period from conception to birth is known as the ............... period.
9. FHAAATT BT T2 JHTRITT H TATIAT Fel §? 1
When was the first laboratory of psychology established?
10. ........ Gohdl T 3TN HARR a1 giafad Ufeer # TR veida 1
et & T = g
Acrtist mostly use........ cues to create an impression of depth on a flat surface.
1. fra AT A T &1 T el & AU fowds uel @ 1
ERICIMER I
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Name the psychologist who used nonsense syllables to study memory.
12. [ FAIGaTad o fKAde & AfFaERT 3R 39ai af geR gedarad 1
forw &2
Who proposed convergent and divergent thinking?

13. A/ feT 710 gt # 3ffwys (A) AR T (R)F ®T A aF &y fgv ;w1

g1 FYAT A 9& AR 39gTd R[eved &1 ThT

HHRYA (A): U 3 AG & RIY & el N ol W g6 AT Y GATT & T
G I GreldT &

$RUT (R): 3-6 AT doh o soal A &I (Afdad) har gidr g1
e

(a) AR RaEET T §, 3R R, AST TEI TISERI0T gl

(b) AR R TcT & JfhT R, AST T&Y TISEHIoT g7 &
(c) ATEY & Afhel R ITeId &l

(d) AdTerd & oifeheT R TET &

Two statements are given in the question below as Assertion (A) and 1
Reasoning (R). Read the statements and choose the appropriate option.
Assertion (A): 3 months baby turns the head and opens mouth when touched on
the cheek.

Reason(R): rooting is a reflex action in the age of 3 to 6 months.
Options:

(a) Both Aand R are true, and R is the correct explanation of A
(b) Both Aand R are true, but R is not the correct explanation of A
(c) Alis true, R is false

(d) Ais false, R is true

14. & feU 10 g & 31fFeYUT (A) IR d& (R)F &I H o &y fer v 1
g1 FUAT A 9& AR 39gerd Reved &1 =TT |
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AR (A) : TIATCHS AU Pl 3l PR THTTAT A & T ATHAITAT
389l I AATART T afFaat fr [FAvant T GERg ga gl

FROT (R): F3T F3T g T & TAT 7 o el ThITehaTal I €A & Tohd o,
O QoFd 3T Fed 81

faere:

(a) AR Ra= T §, 3R R, AFT TEI TISEIHOT gl

(0) AR R TcT § afFed R, AST TE TISEFIOT 8T &

) ATE & Afhed R I g

(d) AT & afheT RTE B

Two statements are given in the question below as Assertion (A) and

Reasoning (R). Read the statements and choose the appropriate option.
Assertion (A): several factors influence selective attention. These generally
relate to the characteristics of stimuli and the characteristics of individuals.

Reason(R): sometimes we can also attend to two different things at the same
time. When this happens, it is called divided attention.

Options:

(a) Both A and R are true, and R is the correct explanation of A

(b) Both Aand R are true, but R is not the correct explanation of A
(c) Aiis true, R is false

(d) Ais false, R is true

15. = QU a0 g # AfFASYT (A) MR dh (R)F & #H al U4 fgr ;v 1
g1 FUAT A 9& AR 3ugerd Reved &1 =TT

AU (A) : Rt Toh AR ATAw gishar § fSder AT Seg a1 Jehe
IR H AgT 9T ST HehelT|

SRUT (R): ”idsT ar=r: Ferfod 3R o AT grar gl
ICETSSF
(a) AR RaET T §, 3R R, AT TEr TISEHOT & |
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(b) AR R TcT § afFd R, AST TE TISEFIOT 8T &
() ATEr & oifhed R I Bl
(d) ATTeId & IfeT RIS &1

Two statements are given in the question below as Assertion (A) and 1
Reasoning (R). Read the statements and choose the appropriate option.
Assertion (A): thinking is an internal mental process, which cannot be inferred
from overt behaviour.

Reason(R): thinking is mostly organised and goal directed.
Options:
(a) Both Aand R are true, and R is the correct explanation of A
(b) Both Aand R are true, but R is not the correct explanation of A
(c) Aiis true, R is false
(d) Ais false, R is true

PART - B

16. TSYTER FIT g2 Tohc T 3TYehc IR Hl 3GI8I0T SIaiv| 2
What is behaviour? Give example of overt and covert behaviour?
17. Spfaaréy gefor 241 g2 2

What is naturalistic observation?
OR

FreTTerr fafer ar g7

What do you mean by an interview method?

18. YcIeTIeh HIToaT & FHIdT & g iy =arear | 2

Explain the principle of similarity of perceptual organisation?
19. 99l T &) AT & ATH AT 2
Name any two schedule of reinforcement.
20. HAET AT A AT FAT FASA 82 2

What is sensory memory?
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OR
fshar Fersh THIA &1 3y qasd|
What do you mean by procedural memory?
21. #E &1 AR R F=41 §2

What is Maslow’s self-actualization theory?
PART - C

22. erarcHs AT &1 F=ar 37 &7

What do you mean by Developmental Psychology?
23. fashrar a1 £2 ¥§ gig dUT IRUFaar & A ghR A g2

What is development? How is it different from growth and maturation?
24. HH FG IcUeT B &2

Why do illusions occur?
OR

AT HT ThrTcHS WA Hr e Hifaw)

Explain the functional limitations of sense organ.

25. % Hehclel, HSRUT AR YAEER HT T AT g2

What is the meaning of term encoding, storage and retrieval?
OR

faeRoT Fat gar g2
Why does forgetting take place?

26. FolollcA® RIdel I ge & dled 3UrT adsv|
Suggest three ways to enhance creative thinking.

27. ATAUOM & FUTT FT 3e160T Jled TEAT HITAT|

Explain the concept of motivation with an example.
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PART - D
28. HAAIdAIAS ST & FAT I8T 87

What are the goals of psychological enquiry.
OR

S $r faf & & 7 grAfde [ fr carear fifGw)
Describe the experimental method as a method of enquiry.

29. [THAT & W U H gl arel TAIcHS IRadaT &1 faggar e 5
Discuss the cognitive changes takes place in a developing child.

OR
TRIRTaTAT FAT 872 gHDGAIG & HYHT Fl SITEIT HITAT|

What is adolescence? Explain the concept of egocentrism.
30. T AT §2 3EhT THW AT T g2
What is learning? What are it’s distinguish features?
OR

379 31ereFaar = g2 31f8RTE 3reFdar arel ST I UgAlT g5 hd ]
Tohd 87

What is learning disability? How can we identify students with learning
disability?
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